No. of Printed Pages : 4

1

3

CS/CB/CI13004 ROINO. ¢ cevvveenneneeennnnne
Nov. 2023
COMPUTER SYSTEM ORGANISATION

Fruifa w34 [ATeRae 3 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
e () TAEAATIRAG HTaHE

Note : There are three sections A, B and C in the paper.

(i) OFIT T 59T G 1 F ) 10 YT & IR T | 5 9T T 3% FE 0
g1 10 577 TGRAT IFR F T 3 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) T T F 8 T 4 8 1551 6 Fo) & I G | I&F I 3 3 B 8 0T
$TH1 5 TE/50 F55] 8 I GG |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) S H 6 T 4 8 foveg] 4 FoH F IR GG | IF F99 8 3 BT € T
FTH1 15 737,/150 ¥eg] 8 IR GIrg |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) T QT & G 5] B HHIR T G § FHIord |

Solve all the questions of a section consecutively together.
(i) g e 7 s 89 1 1R A 3EIf 3gare & A E

Only English version is valid in case of difference in both the languages.

YRA-T
SECTION - A
1. (i) o =HE TR 3 ,

(a) SISD (b) SIMD
(¢) MISD (d MIMD
Von Neumann architecture is

(a) SISD (b) SIMD
(¢) MISD ‘ (d) MIMD
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(ii) Tord ATSSHI ST | Teh TTE | GEX TR 1 T[T WSl STl 8 7

(a) TRTER g (b) TftRfees gEmH
(c) TIPS ZHH (d) IR aeft
Which micro operation carries information from one register to another ?
(a) Register transfer (b) Arithmetic transfer
(¢) Logical transfer (d) All of the above
(iii) T wgftm are 4 AT @ g &
(a) Sud (b) fecfrres @Re
(c) wdgH (d) ITEHd AEh o
In register addressing mode operands are located
(a) Incache (b) In secondary storage
(c) InCPU (d) In primary memory
(iv) UTSTEATS hl 9 TS Bl @ | 3HH §aTs |
(a) W3, feprs, TaiRg (b) TeHiE, %a, waliage
() wE, fers, % (d) AR T
The stages of three stage pipeline sequence is
(a) fetch, decode, execute (b) decode, fetch, execute
(c) execute, decode, fetch (d) None of the above
I U HATTehoera TEH e 8

)

(a) TSI TG HIFRI & HET §THE

(b) B e g BT AREHT

© (@9 (b)aH

(d) T A B T

Instruction set architecture provides

(a) Interface between Hardware and Software
(b) Memory Access Method

(c) Both (a) and (b)

(d) None of the above

(vi) i I T §T5E T ASCII I WR Bt

(a) TEETieRwA | (b) s H

(c) IHead (@) <fmed
Each byte of character is stored as its ASCII value in
(a) Hexadecimal (b) Binary

(¢) Octal (d) Decimal
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2.

3

4.

(vii) PUSH T&l POP 3R Shict 3ZaH o TR & IT &l ?
(@) (b) T
(c) Traff 72 fopam s wepar (d) T ®E Tl

Are PUSH and POP instructions a type of call instruction ?

(@ Yes (b) No
(c) Can’t be determined (d) None of the above
(viii) Frerferaa o & Sreet 1 i a1 v STEvrdR ST Trfd T ?
(2) A (b) T
(¢ Y @ =
Which part of computer performs arithmetic operation ?
(a) Memory (b) ALU
(¢ CU (d) Register
(ix) RAM 1M 8
(a) e Ai<h Ao (b) LA wEE AT
ORREREESEEIT @) OswgEiEd
RAM stands for
(a) Read Only Memory (b) Random Access Memory
(¢) Read Access Memory (d) Read Address Memory

(x) 1 kilobyte o fbe bytes B0 § ?

(a) 1024 bytes (b) 2048 bytes

(c) 4096 bytes (d) e H 8 HIE TR

How many bytes are there in 1 kilobyte ?

(a) 1024 bytes (b) 2048 bytes

(c) 4096 bytes (d) None of the above (1x10)

JaE — o
SECTION - B

U fedam @i W == # |
Discuss error detection codes. : A3
TR ZEwt i THEsd |
Explain Register transfer. 3)
e qTEUelTs i 3CTEvT digd Tuems |
Explain arithmetic pipeline with example. A3)

P.T.O.
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5.

10.

11.

12.

13.

14.

15:

21 8- fire e B T &3 % o wenifer fofid |

Write an algorithm for division of two 8-bit numbers.

T U TSI FT BT & 7 IETE G AHSE |

What is instruction set architecture ? Explain with an example.

sl v 3 o foren % fafie e i s |

State different rules to write program in assembly language.

g feepifem o 2t B 3R 3 S8 1 T @ 7

What is address decoding and how is it done ?

AN ST /TeTERa 1 Eie aueTsy |

Explain memory hierarchy with diagram.

YoM — &t
SECTION - C
i A FhTCFER 1 Bl @ 7 39 Wk -aes o gry wweed |

What is Von-Neumann architecture ? Explain it with neat and clean diagram.

9 TE AR O < auesy |

Explain Bus and Memory Transfer.

U frersifti ot forar @ Twems |

Explain address sequencing in detail.

X TR o e @ ==t |

Explain vector processing in detail.

et T R AN R ? ST HIST 1 ek NI g sy |

What is assembly language ? Explain with an assembly language program.

T L= o g U i SeThib w1 arEsy |

Explain interfacing of ROM with neat and clean diagram.
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